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L. " mwn: circumstances where noa is brought nxnva
a. oanv parr if a majority of the people or the 0”3 are RNV, PWRI N3 is brought NxrNVA
b. pr1i7v pary. if a minority are Xnv, the community brings n1nva and the minority bring »w nos
II. ®p»1a:if any of these 3 are xnv, Noa done NRMYVA: HRIYY, DNI, NIV 9D
a. ~7on /7. only if NW 9 are nn *RNY; per v1, is ARMON MR 2R (:00)-D>RNVN the officiant
i. Ifonly: y7wa 80wy, brought by 0™ 1nv; only meat is Xnv (W); people are still 1Mo ®TON 7 holds MNT kML
b. #37 in that case, even m&nv join: (v2 — only when 1% part can be fulfilled, end of pva is fulfilled)
II. 29 v. Rnd " re: 50% DRNY
a. 37.50%=ay1 > each group brings independently
b. 748175 7. 50%~=211 = only the 011V bring nWRY Noy, the B'RNY bring 1w noa (1st version — knp R1w’Y) OR
c. 281712 ’1. 50%~=11 > only the mmnv bring NWKRY noa and the &N don’t bring at all (27 version — RN RIVY)
i. rationale: can’t do NWRY, because they aren’t majority; can’t do 1w, because they weren’t in the minority
d. Arguments: our mwn (1 clause) supports X113 "1 — only if a majority are xnv (> must be >50%)
i. Response (27): if majority 8nv, all done nkm3; if 50%, groups offers separately
ii. Support: from 2 clause - only if minority n'xnv is there 1w noa
1.282775 /7. 27 clause means, if 50%, no v Noa either
2. 182712 ’1: 27 clause inexact (even 50% will bring w”a) parallel construction
iii. Ar7773: supports 11 (9" - it’s a dispute among wRin; this Xn»11 maintains 50%, groups bring separately)
iv. ap»73 supports 13" (21& 28113 '1: majority were ®nv including women; w/o women, majority were 1110
1.Therefore: Delete women from accounting [mw3] — majority are 191V, only 0110 bring; minority bring on v”a)
V. Nf7772 supporting 28313 1 (27: 50% plus women on 7”9; women are obligated in 7”8 but not v”a
1.Therefore: vis-a-vis 1”9, majority are 700, re: v"a, back to 50%)
2.Response (13”7): women make up some of the D1nv on 1”8 — women are obligated in 7”8 but not v"a.
a) so: 1"0: 50%, so only o 1nv bring; v”s, they were a majority of n1nv, so no v"a)
IV. Definition of “majority” — xn»a—
a. 50%: 1NV — groups offer separately
. Majority: of 1 Xnv — all offered nrmva (no separation in a Max 117p)
N1 13 995K 1. 1 doesn’t push the majority (v3)
. "7 even 1 vaw which is ®nv — groups bring separately (vaw::5np)
. 7miv ‘1. 1 vaw which is XY — entire Ynp brings nkMV1 (V2V::5NP)+(no separation in a MNax 127p)
i. 37 if someone holds like p"n (50% &nv doesn’t enable NkMVA NXRAN) — We are RNVN someone YIV NRMYV
ii. w5 in that case, we send someone on a journey (7N 717) (and force him to pack his belongings?)
1.Because: we offer it on behalf of a y7w ®nv (27's solution wouldn’t accomplish anything)
2.We don’t: manipulate nn nkmv, b/c then he can’t bring his nan on v"y
a) Even if: 7 days are over during v"v; all days are nwr1Y pPmbYwn —if he wasn’t fit on 1% day, never brings
f. np o8pVY 7277 PXHY: Majority N1 '8NV, we don’t bring
i. 27 those who are nn *xnv bring neither; the 1128 doesn’t bring 1”2 if N1 'RNY; W”a only if 1”0 was brought
ii. S8 what of the demand to bring noa (a7: if impossible, don’t bring, just like if entire Ynp was N2t 'RnY)
g. JI0 ’NAD) 7277 PRHD. Majority nn MRNY
i. a»7 77 wardon’t bring w”a (no v”a if 9”8 was brought nkmva) = only n1nv suspends to v”a
ii. /7278 72 N7N "7 D21 do bring w”a > even NrMV suspends to v
h. 1/3 of each: nn >yno , NNV DA
i. 1w npv: bring neither, they were minority for 1”9, but majority (of non-bringers) at v”a
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